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apprehension is baseless. There are a number
of conflicting judgments of various courts here
and abroad. Therefore, this amendment is
necessary. The new parliamentary bulletin
says that the Government is proposing to
replace this Act with a new Bill. At that time
would you consider this amendment?
SHRI SIKANDER BAKHT: Yes, the
Parliament is contemplating to bring an
amended Bill on the subject of trade marks.
Rut as you say, we will definitely consider it.
Industrial recession

*3. SHRIMATI VENNA VERMA
SHRI AKHILESH DAS: Will the
Minister of INDUSTRY be pleased
to state:
(a) whether it is a fact that industry has
been hit by the severest ever recession this year;

(b) if so, the extent of recession faced by
each sector of industry indicating the idle
capacity lying with each seotor like textiles,
cement, steel and others; and

(c) the steps, so far, taken to rid the industry
of the paralysis and revive it to atleast 8-9 per
cent growth in the second quarter as
contemplated?

THE MINISTER OF INDUSTRY (SHRI
SIKANDER BAKHT): (a) to (c) A Statement

is laid on the Table of the House.
Statement

(2) and (b) The Industrial growth was lowest
during 1990s in 1991-92 being 0.6% followed
by 1992-93 being 2.3%. The industrial growth
during April-September, 1998 is 3.6%. The
overall industrial performance since 1990-91
is"iven hf.lnw:
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Capacity utilisation in the case of some of
the sectors as mentioned in the question are
as follows:

(Capacity utilisation in%)

1995-96  1996-97  1997-98

-Textiles
Spinning 86 86 85
Weaving 52. 52 52
—Cement 81 82 81
—Crude Liquid Steel 76 75 76
—Automobiles
4 Wheelers 74 74 54
2 & 3 Wheelers 80 76 72

Year Index of Industrial
Production*
(Growth in%)
1990-91 8.3
1991-92 0.6
1992-93 2.3
1993-94 6.0
1994-95 8.4
1995-96 12.7
1996-97 5.6
1997-98 6.6

1998-99(Apr-Sep) 3.6

F The question was actually asked on tne tioor oi me nousc by
Shrimati Veena Verma.

*Index of Industrial Production upto 1993-
94 is on Base year (1980-81=100) and after
1993-94 is on the new base (1993-94=100).

(¢) The Government is aware ot tne
slowdown in the industrial growth. Various
measures have been initiated during the
Budget 1998-99 and thereafter to stimulate
and revive industrial growth. Important
amongst them are:

m de-licensing of coal and lignite,
petroleum refining and sugar to attract larger
inflow of capital.

m increase in limit for investment by
NRIs.

m rationalisation of tariff structure by
introducing 4% special additional duty of
customs to remove disadvantages faced by
the domestic industry.

m 35% increase in Plan outlay for
infrastructure industries.

m special package announced for revival
of growth in exports which constitute a
significant share of manufactured goods.

m The Government has recently allowed
buy back of shares and inter-corporate
loans to boost investment and revive the
capital market.

m to give an immediate boost to industrial
activity, the busy season credit policy
announced by RBI has avoided raising
interest rates.

m counter guarantees given by
Government to three major fast track power
projects expected to create demand for basic
and other goods.
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The Government is conscious of the need for
the revival of the industrial sector and has
constituted Four Task Forces for Steel, Capital
Goods, Commercial Vehicles and Cement to
recommend policy interventions to address the
problems faced by these sectors. The Task
Forces have submitted their recommendations to
the  Government and the  policy
announcements relating to these sectors are
expected shortly. The Prime Minister has
constituted the Economic Advisory Council and
the Advisory Council on Trade and Industry
which would also suggest measures to improve
the industrial climate.

SHRIMATI VEENA VERMA: Sir. the
Finance Minister's claim, presumably based on
the industrial performance during April as against
that in March, that the recession in industry had
ended, seems to have gone astray. The production
figures for subsequent months have failed his
expectations. The production during the first five
months of the current year, 1998-99, expanded by
only 1.7%, of which the consumer durables
contributed only 0.6% against an increase of
5.6% during the corresponding period of last
year, which indicates an obvious increase in
recession. The industrial growth which had
been steadily rising since 1991-92, since
liberalisation was adopted, and had attained the
peak level of 13.3% in 1995-96, had slipped
down to 8.2% in 1996-97 and it had a drastic fall
in 1997-98 to just 4.2%. It slipped further down to
only 2.4% in August, 1998 as compared to 5.5%
in August, 1997. May I know what the reasons
are for such a deep recession which had so
badly hit the industry this year? What has gone so
radically wrong with the industry? You have already
answered it, but may I know whether certain
sectors have registerd a negative growth,
which is a sure sign of deep recession this year? If
so, which particular industries have recorded
negative growth? You have given the names of the
industries also. But to what extent has been the
negative growth? What special efforts are beign
made to extricate these industries from out of
the red?

SHRI SIKANDER BAKHT: The hon.
Member has hit the nail on the head. Statistics
sometimes play tricks. There is no doubt that in
the overall position there has been recession. The
end part of your question is: which are the

[RAJYA SABHA]

to Questions 8

industries which have shown recession? it is
remarkable that wood and wood products and
machinery and equipment other than transport
equipment are the industries which have shown
recession. The remarkable part is that
beverages, tobacco and related products have
shown a remarkable progress in September and
October, 1998-99. (Interruptions) 1 am giving
you the facts and it doesn't make and
difference. Paper and paper products have
again shown a remarkable increase in the
industrial progress. Leather and leather
products, basic chemicals and chemical
products, rubber, plastic, petroleum and coal
products, metal products and parts except
machinery, transport equipment and parts, etc. are
the other things. In all, there are 213 items which
have shown a good progress.

SHRIMATI VEEN VERMA: My second
supplementary is this. May I know whether the
Government has an assessment of the adverse
impact of imposition of sanctions against India in
the aftermath of the nuclear tests this year, which
the Finance Minister had described as only a
minor road-block and whether a blueprint of a
comprehensive plan to deal with the situation
arising from the imposition of these sanctions
was prepared, if so, what are the details of the
Government's assessment and the blue-print laid
down to tackle the sanctions on industry?
Specially, how far has recession in industry
been increased by sanctions in different
sectors?

SHRI SIKANDER BAKHT: Sir, it is
something of a general nature. In the beginning, the
sanctions did have some effect, but later on it is
remarkable that the industrial progress in India
was not really affected badly by the sanctions.
The sanctions imposed by Japan have practically
got totally diluted, and even the sanctions
imposed by the American Government have
also got reduced to some extent. I don't know
what it really means, but some individual
industries in India had been segregated. The step
taken by the American Government was very
unfortunate. I can only speak in very general terms
that the sanctions really have had no effect,
and the most remarkable manifestation of this
is that the ASEAN financial crisis had not at
all any perceptible effect on Indian economy.
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SHRI DIPANKAR MUKHERIEE: Sir,
VRS is the only solution.

SHRI NILOTPAL BASU: For this
Government also. ...(Interruptions)...

SHRI PRANAB MUKHERIJEE: Do you
want VRS for the Government?

SHRI NILOTPAL BASU : Yes.
...(Interruptions)...
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SHRI JIBON ROY: Sir, one crore people are
involved in it. That may have political
connotations. ...(Interruptions)...
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SHRI JIBON ROY: We are bothered about
the working class and the Indian industry. It
has tremendous political connotations.
...(Interruptions)...

it Rrehex 9% : WX 9184, I don’t want

to join issues with them.

WfbT g8 dEA dAedl § @iell, b
G.UH. 4. P a$ST BR P (AT H 3dD!
JAET ViR & 18 21 fF adhd Bl deR
P TSP IR T AR MY AR B GRS
BT ot MeREBH B BT IR B} TS & 319 I
3% € 5 o wifkam & fou 8 9w om
dfe faht @1 a8 @ 78 € % a6d @t
TS HT T TSI dlec]d, I & JfIsT &l
JE IT dATegfd ITdI VAT ISR <7 BT &

Cind " olo o e a8 bt
ol s 5" o 23932 (g2 1 231y
oS dede £ 5 S0l ity £
= S Tbles 22

LY 3 Spe & e o5 5o S
25000l ot 5 W2 356 ol 4 >
eSS Staole &5 s S
st 2 HE ol

+ [1 Transliteration in Arabic Script

[RAJYA SABHA]

to Questions 12

& oW e Jyorar W0
S S et st Jud 2 o5 (o8 S
& M o e K D
2505 L) 31 (315 e e ' il
LSl 2 s
SHRI JIBON ROY: We have not tried to

demolish the public sector. The Government
has gone. (Interruptions)
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SHRI JIBON ROY: Recession is the main
cause. (Interruption)
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SHRI JIBON ROY: The economy should be

strengthened. It should not be broken down. We
want that (Interruptions)

it Ripex 9% : o1 STgasiH 8 T &
ARSI FaTe 9

LS sy 009 BB 1 1 o g8
= s Jipsles

MR. CHAIRMAN :
Original question.

Please reply to the
it R a% : H 92 3171 =re gl

TORATAl, HEH 980 WR SO Y ¥
eI &I SHMHT P TFINT B P
AT TSI a8 N SHIH P (SHARIA B
iR g1 319 39 Ig 3iSTo BN 5 gas wle
TR 1995-96 H 12.7 THUIE RS T 3R
I goig I8 ot fe 59 fiRws # Rt
THIIIS BISURE T, TaUIE T 20 Wise
AT .....(FEH) ..

[30NOV., 1998]

to Questions 14
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SHRI NILOTPAL BASU: Minus onions.'
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For sluggish export growth, inadequate
investment in infrastructure the steps taken are
attracting investment in FDI; we are attracting
it in a big way. Investment is directly related
to the growth of industry.
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SHRI NILOTPAL BASU: This is*a
millionth joke!

SHRI SIKANDER BAKHT: This will hot
only ensure the growth of cement but also the
building material. We have provided a 35%
increase in the Plan expenditure for
infrastructure. The Government has created
four Task Forces to deal with the question of
deceleration in cement, capital goods, steel and
commercial vehicles. In order to revive the
capital market, we have taken a decision to
buy back shares and to allow inter-corporate
m loans. The NRI investment limit has been
increased. ...(Interruptions)... The additional
duty of four per cent is going to help the local
and domestic industries. ...(Interruptions)... in
a particular period the RBI used to increase
the interest rate. ...(Interruptions)... But, now
the RBI has announced that interest rate is not
going to be increased. ...(Interruptions)...

MR. CHAIRMAN: Please hear the
Minister. ...(Interruptions)

SHRI SIKANDER BAKHT: The Prime
Minister has announced the forma” tion of
an Economic Advisory Council.
...(Interruptions)... Basically, industrial growth
is directly related to investment.
.(Interruptions)...

SHRI E. BALANANDAN: Sir, the hon.

Minister has stated that the Government is
taking many steps. ...(Interruptions)...

SHRIMATI JAYANTHI NATARAJAN: Sir,
there is no TV camera. ...(Interruptions)...

MR. CHAIRMAN: Automatic cameras are
working. ...(Interruptions)... Robotic cameras
are working. ...(Interruptions)... Robotic
cameras are working. ...(Interruptions)...
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SHRI E. BALANANDAN: Sir, the hon.
Minister was saying that the Government is
taking several steps for the revival of the
industry. I would like to put a question to the
hon. Minister. Sir, one part relates to the revival
and the other part relates to the steps by which
industries are made sick. There are several
examples. Here I will give you only one
example. Fertilizer industry is the biggest
industry in Kerala. This industry has been put
to a cricis by allowing reudction in customs
duty on caprolactam. Now that industry going
to be closed. Sir, as you know, before this
Minister took over, many industries were given
revival packages. The first is the IDPL. The
second is the largest industry of the country,
that is, the textile industry where in lakhs of
workers are employed. These packages have
not been taken seriously by the Government.
Therefore, lakhs of workers have been affected.
The decision regarding revival was taken after
a lot of discussion. Exsperts all over the country
went into this question. But, the Government
has gone back on all these things. Can you
revive the industry in such a way? It is because
of the totality of the international economic
crisis that they want to impose restrictions on
India. Therefore, the policy of opening up and
deregulation will not help us. I would like to
know whether the Government will take steps
to see that the customs duty is modified to
improve the fertiliser and chemical industry
in Kerala.

Welcome to Parliamentary Delegation
from Mongolia

MR. CHAIRMAN: Before the hon.
Minister replies, hon. Members, I have an
announcement to make. We have with us,
seated in the Special Box, members of a
parliamentary delegation from Mongolia,
currently on a visit to our country under the
distinguished leadership of His Excellency Mr.
R. Gonchigdorj, Chairman of the State Great
Khural of Mongolia. Onbehlaf of the Members
of this House and on my Own behalf, I take
pleasure in extending a hearty welcome to the
leader and other members of the delegation and
wish our distingusited guests an enjoyable and
frutiful stay in our country.

[30 NOV., 1998]

to Questions 18

We hope that during their stay here they
would be able to see and learn more about our
parliamentary system, our country and our
people and their visit to this country will further
strengthen the fridendly bonds that exist
between India and Mongolia. Through them,
we convey our greetings and best wishes to
the Parliament and the friendly people of
AMongolia.

Oral Answers to Questions (Contd.)
Q. No. 3 Contd.
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SHRI SIKANDER BAKHT: Basically, I
could sit down saying that the question does
not relate to the original question.

It is a wide question about a particular
industry working under a public undertaking.
We are dealing with it. We will ensure that we
do not make workers jobless and throw them
on the road. Unfortunately, he is talking about
industries which are sick for ages. We have
done everything to revive them.
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DR. LM. SINGHVI: Sir, I would like to
know whether there is any foundation for
expecting that the rate of growht would
stabilise at the end of the years to about 7%, and,
whether any approach is being evolved so that
this rate of growth is achieved. I would like the
hon. Minister to give us his assessment as to what
is the expected rate of growth to be achieved at
the end of the year.
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DR. BIPLAB DASGUPTA: How much
in four months?

DR. MANMOHAN SINGH: Mr.
Chairman, Sir, the hon. Minister has
outlined an eight-point programe for the
revival of industrial production. But, many
of his points are not yielding results. For
example, the Government has announced a
35% increase in the Plan Outlay for
infrastructure industry. The industry is
representing and complaining continuously
that it does not see anywhere this step up in
infrastructure. Would the hon. Minister
enlighten us, if he has any data, that the plan
expenditure is actually increasing as stated
in the Budget document?

Secondly, Sir, the Minister has
mentioned about a special package for
revival of exports. But, in fact, exports this
year, for the first time in many years, are
showing a negative growth rate. So, I think,
Government's policies are not simply very
effective.

Thridly, the Minister has mentioned that
the Government has recently allowed buy-
back of shares and inter-corporate loans to
boost investment and revive the capital
market. In fact, the capital market remains
as depressed as it was before this
announcement was made.

[30 NOV., 1998]

to Questions 22

Would the Minister enlighten the House
whether the Government would come up
with some new proposals to really give a
boost to industrial development because the
proposals that he has outlined have proved
to be totally ineffective?
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SHRI N.K.P. SALVE: What is the data on
the basis of which you are saying this?

SHRI KRISHNA KUMAR BIRLA: Sir, the
hon. Minister must be aware that as a result of the
industrial production having gone down, the
Government revenues have also been affected.
It is estimated that there will be a shortfall of
about Rs. 5,000/- crores in the collection of
excise duty, and Rs. 6,000/- crores in the
collection of import duty. It is a vicious circle.
There is a demand recession. Hence, the
demand has to be created. A demand can be
created only by the Government by spending
money on infrastructure, which includes
housing and road construction. The Minister has
made a reference to that. So, I would like

to ask: (a) What step have been taken by the
Government to create demand so that recession is
checked and performance of the industrial units
is improved? (b) The Minister has mentioned
that there is a budget provision of Rs. 1290/-
'crores for the construction of roads I would like to
know what progress has been made towards the
construction of roads and towards the
construction of two million additional
dwelling units, for which provision had been
made in the Budget.
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SHRIMATI JAYANTHI NATARAJAN:
Sir, the Minister is not replying to his specific
question.

MISS SAROJ KHAPARDE: Sir, the hon.
Member has asked about roads and housing,
and the Minister is answering something
different. We do not understand whether he is
answering the same question.
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MR. CHAIRMAN: Pleas e !.: him reply.
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delicensing of coal, lignite and all these
things.
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MR. CHAIRMAN: Let him reply.

Nt Rpex T : 1 99 72 T|
TP H E, STPI P NG TSR
IH1 &, 39 191 9 |ifed &1 Raeic diea d
T.JR.IMES Bl I ®UT 3MMT ¥, a8 TR
TRAC W 3T Fad M7 T GH.3MR.3MES A
TR U EI6IR R W gU &, W16 &
9 1R gY &R sefifNera 4 T8l gu @
UF.3MR. 3sSl dl Fgfelyd d12Y, SHD
aretrar Hf U.3IR. 3MSoT & fory IR &) X7 €
A1 P 3R HeH IBTY ST TG TH.371R.
JMMES D fag e # o1 & wgforad firel|

5 e b G881 a8 g2 F
ez 8T ol - s oS SH- g e
ol o g ) Sooap LS
2 6Tl o) " il e e
L}szﬁ %34—2%054@@9)
9 o Aoy e sie o ol ol - WS
S i dnndlges
25 nosb @ EIOC e g g
S e e 8 S
2 Uy 58 A G100 ptroade

-0t e e il S W3 )0 42556

T [ ] Transliteration in Arabic Script



29  Oral Answers

gy 0 S ) s i 9320 541
ke

SHRI PRANAB MUKHERIJEE: Sir, the
question is related to the industrial recession. It
has been very correctly pointed out that most of
these things which have been listed by the
Minister in reply to the question, as stated in the
statement, have not fructified into yielding any
results. Export is a classical example. There
might have been a special package for evival of
exports, but ultimately it ended in a negative
growth of 3.6 per cent in the first six months of
the year, (interruptions) It may have been 3.6 per
cent or 3.4 per cent, but it is a negative growth.
Similarly, in regard to infrastructure
investment, one will agree that in order to
overcome the demand constraint, one time
injection of reasources to step up the public
expenditure  was called, for. But,
unfortunately, that was not done in the budget. The
hon. Minister is claiming that there is step up in
plan outlay by 35 per cent in infrastructure sector. It
is notional in the sense that most of the
infrastructural sectors have been asked to ranse
resources from the market, it is not backed by the
budgetary support. A substantial part of these
resources are to be raised from the market. They
are not in a position or they are reluctant to have
these from the market. So, adequate investment
is not taking place. In the light of the experience
gathered in the first six months—the figures
are already available with the hon. Minister-
would he kindly enlighten the House as to
what corrective measures they are going to take
to remove the demand constraint and whether
the Government is in a position to step up
public expenditure by injecting adequate
quantum of resources in the public expenditure
sectors?
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SHRI PRANAB MUKHERIEE: Just one
clarification, please. Why 1 am saying it is
notional is that there are two components of this
outlay. One component is internal resource
generation or extra-budgetary resource. Mr.
Minister, if you go through the figure of the actual
investment in the infrastructure; in large areas you
will find that there is a difference , between the
original outlay and the actual expenditure,
because they are not in a position to raise resources
from the market. Therefore, if in this 35 per cent
steps up there is not a substantial part coming from
the Budgetary resource, which is the direct money
from the State Exchequer or the Central Budget to
the public sector enterprises, they would not have
the resources for investment. That is why I am
saying it is notional.

SHRI SIKANDER BAKHT: Thirtyfive per
cent increase is on the basis of the Budgetary
support.

SHRI PRANAB MUKHERJEE. No I am
sorry, 1 think, the Deputy Chairman of the
Planning Commission can clarify the position. It
is not so. It is an enhanced outlay, but not from
the Budgetary support.
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SHRI PRANAB MUKHERIEE: I wanted
to know that in order to remove the demand
constraint, whether you can step up the public
expenditure, more investment in constructions,
for example, so that there is a step up in the
demand of cement and steel. I would like to
know whether the Government is going to

[RAJYA SABHA]
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consider this as a short term measure so that
the demand constraint is removed.

SHRI SIKANDER BAKHT: Which area do
you have in mind about the public expenditure?

PI-|T TRIT MMTh STET H 872

SHRI PRANAB MUKHERJEE: One
example I gave was of the construction sector.
If you make more investmetn in the
construction sector, there will be a further
demand of steel and cement.

SHRI SIKANDER BAKHT: I have already
said so.

SHRI PRANAB MUKHERIJEE: I would
like to know what quantum you are giving
about the public expenditure.

SHRI SIKANDER BAKHT: There are four
areas specifically where we are giving special
attention. I have already given two instances.
For cement and steel we are taking steps to
construct 7,000 kilometres of roads. This will
increase the demand of cement, construction
machinery and steel. Twenty million houses
in a year will increase demand of cement and
building material, including steel.

SHRI PRANAB MUKHERIJEE: I am
putting another question. Sir, I am not
disrupting the Question Hour. In another reply
the Government itself has admitted that
capacity utilisation in both steel and cement
industry has been less compared to 1996-97.
It is because there is no demand. We have been
repeatedly emphasising that in order to step
up the demand, please do not depend on the
private sector. Step up the invesmtnet in the
public expenditure.
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It is exactly what we are saying, yes, there has
been a terrible recession in the demand itself.
We are trying to ensure that public

expenditure # feATe Fav U8l Y181

That is what we are trying to do.

MR. CHAIRMAN: Honourable Members,
I find a number of names for putting
supplementary questions. Since this is a very,
very important subject to discuss in the House,
I suggest that Members can give notices for a
Half-an-Hour Discussion, or for a Short
Duration Discussion so that we can have a
discussion for 2” hours.

SHRI PRANAR MUKHERIE: Sir, 1 think
it is a good idea to have a Short Duration
Discussion on the overall economy so that we
can bring in matters related to industry, we can
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bring in matters related to export, we can bring
in matters related to the implementation of the
Plan. That would be more appropriate. We can
discuss the price rise and all aspects of the
economy. I think some notices have already
been sent on the mid-term review of the
economy.

DR. BIPLAB DAS GUPTA. Sir, you
may recall in the morning, we have
proposed that there should be a

discussion on the pricerise.

MR. CHAIRMAN: We are taking up that
issue immediately after the Question Hour. You
know about it. We are going to take it up.

DR. BIPLAB DAS GUPTA: Then, we can
cover some of these issues.

MR. CHAIRMAN: Question No. 5-Mr.
K.K. Birla.

*4. (The questioner (Shri Anantray
Devshanker Dave) was absent. For answer, vide
col. 41 infra]

Stagnation in Steel Industry

*5. SHRI KRISHNA KUMAR BIRLA:
Will the Minister of STEEL. AND MINES be
pleased to state:

(a) whether Government are aware of the
stagnation in the Indian Steel Industry with
sharp decline in exports and dcmostic
consumption;

(b) if so, whether Government have made
any critical analysis of the prevailing situation
in the steel industry;

(c) if so, what are the details thereof; and



